No. Changes and/or Note No.

Date Intr

No | Changes and/or Note No.

Date Intr

40

15.6

31.3
16
12 .
D a
19.3
25
9.0 @1.0 5.0 4.0
l
% CL (A) p‘l o é ‘o) o é o o é o
@ \ / \ /1| /1] >:|
[ \ /[ \[ | \[ ]
o o) e} fe}
G 8 E
D 1 1 Top DTPPK-9 Cover
Part Number. Description: Pack: 2 i Bottom DTPPK-9 Cover
3 1 D457K-D1 Grommet
6560-0108-01 MHDTPPK-09-BK-K Kit 4 2 M3X11.5 Screw
5 2 M3 NUT
6561-0108-01 MHDTPPK-09-BK Bulk 6 2 UNC 4-40X45 Jack screw
ltem QrY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2009-02-11 YGY
Auditing: APPROVED: REPLACES:
MH MHDTPPK-SERIES = &
T DRAWING No:




No. Changes and/or Note No.

Date

No | Changes and/or Note No.

Date Intr

40.5

15.6

47

@5.0 @4.0
] [

| []o>

<0

~1
- ~
<o|] [lowm

o 1 1 Top DTPPK-15 Cover
Part Number: Description: Pack: 2 i Bottom DTPPK-15 Cover
3 1 D45ZK-D1 Grommet
6560-0108-02 MHDTPPK-15-BK-K Kit 4 2 M3X115 Screw
5 2 M3 NUT
6561-0108-02 MHDTPPK-15-BK Bulk 6 2 UNC 4-40X45 Jack screw
ltem Qry Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2009-02-11 YGY
Auditing: APPROVED: REPLACES:
= @
IMH MHDTPPK-SERIES omamcio
CONNECTORS




No. Changes and/or Note No.

Date Intr

No

Changes andfor Note No.

Date Intr

L 1 1 Top DTPPK-25 Cover
Part Number: Description: Pack: 2 i Botiom DTPPK-25 Cover
. 3 1 D45ZK-D1 Grommet
6560-0108-03 MHDTPPK-25-BK-K Kit 4 2 M3X115 Serew
5 2 M3 NUT
6561-0108-03 MHDTPPK-25-BK Bulk 6 2 UNC 4-40X45 Jack screw
ltem QrY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-09-11 YGY
Auditing: APPROVED: REPLACES:
MH =&
I MHDTPPK-SERIES fommcws




No. Changes and/or Note No. Date |Intr |No | Changes and/or Note No. Date | Intr
Lo
Lo
- |
15.6 70
16
12

I O=0\
O ©
.
| 63.5 |
?9.0 @1.0 5.0 @4.0
cg Ao o A Jo o|4)o o |A %
o o o o
\ / \ T\ /_>:|
[ \ \[ |/ \[]
o o) o) o)
“CS v ﬁ “O v O 0'V O O |y O?
o 1 1 Top DTPPK-37 Cover
Part Number. Description: Pack: 2 i Botom DTPPK37 | Cover
. 3 1 D45ZK-D1 Grommet
6560-0108-04 MHDTPPK-37-BK-K |  Kit . R ETONIE Soow
5 4 M3 NUT
6561-0108-04 MHDTPPK-37-BK Bulk 6 2 UNC 4-40X45 Jack screw
ltem Qry Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-09-11 YGY
Auditing: APPROVED: REPLACES:
MH =@
I MHDTPPK-SERIES SRR




